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Answer All the questions:
Q(1): Choose the correct answer from the following :

1) 2 vectors of magnitude A= 15 & B= 9, making en angle of 40º between them. The magnitude of the resultant is:
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A) 30.19

B) 27.70
                                                   

C) 22.65

D) 18.39

2) How long would take a bike to accelerate from 4m/s to 12m/s at a constant acceleration of 0.8 m/s2?

A) 6.4s

B) 10s

C) 15s

D) 26s

3) A plane takes 25s along 500 m to take-off starting from rest. Assume the acceleration is constant, what is its velocity when taking-off?

A) 20 m/s

B) 32 m/s

C) 40 m/s

D) 80 m/s

4) On Venus planet, whose mass is 4.87х1024 kg & a radius of 6.05х106 m (Gravity constant G = 6.67х10-11SI, an astronaut will have:
A) less mass & less weight

B) less mass & same weight



C) same mass & more weight

D) same mass & less weight

5) Suppose we through a ball upward with an initial speed v. It will travel distance h before it is stop (neglect air resistance). How far the ball will go if the initial speed is 2v?
     A) h                 B) 2h                      C)4h                       D) 5h
6) The unit of  work  is Joule which is equivalent in SI system to :

          A) kg.m        B) N/m         C) kg. m2/s 2          D) kg.m/s
7) A 5 kg block has its speed increased by 6 m/s in 2 s. What is the average force exerted on that box?
           A) 10N         B) 15N             C)  12N                     D) 13N
8) A 0.5N horizontal force is required to keep a 4g box moving horizontally at a constant velocity, because the coefficient of kinetic friction is approximately equal to: 

         A) 13              B) 0.15         C) 0.013          D) 0.4
Q (2):

Three kids play with each other in the snow. Two of them try to pull the third one as shown in the picture. Find the magnitude and the direction of the net force. Where Both of the two kids apply the same force F=12N.


Q(3):
A 4 kg mass is sliding on an incline, 8 m height and 30º inclined. If it starts from rest and the coefficient of kinetic friction is about 0.25, what will be its velocity at the bottom of the hill?
Good luck (
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